
Quiz 1
Math 101

(B)

Name:
Computer no.:
——————————————————————————————————————
Choose the correct answer:
1- D f v

(a) Ð D f (b) = D f (c) Ô D f (d) All answers are correct .

2- limx¸?1 x ? 1 =
(a) Does not exist. (b) 0. (c) ?2 (d) Ý?2Þ1/2

3- If fÝxÞ = 5
6 ^

2, then the equation of the tangent line of f at Ý1,1Þ is:
(a) y = 0. (b) y = 1 (c) y = 5

3 ^ (d) y = 5
3 ^Ýx ? 1Þ + 1.

4- The function ßßxàà is ...................... at 2
(a) continuous. (b) discontinuous. (c) differentiable. (d) none of the pervious is

right.

5- If fÝxÞ = x
|x| , then f E fÝxÞ =

(a) fÝxÞ (b) |fÝxÞ| (c) 1
|fÝxÞ| (d) 1

fÝxÞ .

———————————————————————————————————–
Put True or Flase in front of the following sentences:

1-( ) Every differentiable function is continuous.
2-( ) limx¸ 4 ßßxàà does not exist.
3-( ) If f and g are continuous functions, then f2 and g5 are also continuous functions.
4-( ) Ýfg + hÞ v = ÝfgÞ v + hv = fvg + fg v + hv.
5-( ) The function fÝxÞ = x2 + 5x + 1 has a root in the interval Ý?1,1Þ.
—————————————————————————————————————-
Prove that

lim
x¸0

3 x sin 1
3 x

= 0.


